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Puzzle test for SBI Clerk Mains, IBPS Clerk Mains, RRB Scale | Pre,

SBI PO Pre, IBPS PO Pre, IBPS SO Pre and RRB Scale | Pre Exams.
PT Set No 3

Directions : Study the following information to answer the given questions.

Five friends P, Q, R, S & T have different heights. T is the 2nd tallest person in the group. P is taller

than only S. R and T both are taller than Q, P is taller than S but shorter than Q.

1. Who is the tallest person of all?

A.RorT B. T C.R D.O E. None of these

2. Who among the following is taller than T?

A.R B.Q C.P D.S E. None of these
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Common explanation :
Reference:

T is the 2nd tallest person in the group
P is taller than only S.

Inference:

We can draw following diagram from the above reference points:

>T>>P>S

Reference:

R and T both are taller than Q

P is taller than S but shorter than Q

Inference:

We can draw final arrangement from the above reference points:

R>T>Q>P>S
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Answers:

1. From the common explanation, we can see R is tallest among all.

Hence, the correct answer is option C.

2. From the common explanation, we can see only R is talleer than T.

Hence, the correct answer is option A.
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